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QUESTION 1

An administrator deploys a normal (non-stretched) cluster of six i3en.metal hosts in VMware Cloud on AWS. When
deploying virtual machines to this cluster, which two of the listed storage policies would satisfy the service-level
agreement (SLA) for a six host cluster? (Choose two.) 

A. Failure to tolerate = 1 failure - RAID-1 (mirroring) 

B. Site disaster tolerance = Dual Site Mirroring 

C. Failure to tolerate = 1 failure - RAID-5 (erasure coding) 

D. Failure to tolerate = 2 failures - RAID-6 (erasure coding) 

E. MC Workload Storage Policy -  

Correct Answer: BD 

 

QUESTION 2

What is the maximum Gbps of bandwidth that each AWS Elastic Network Adapter (ENA) provides on a i3.metal host? 

A. 25 Gbps 

B. 50 Gbps 

C. 10 Gbps 

D. 100 Gbps 

Correct Answer: A 

 

QUESTION 3

A customer wants to ensure that VMware Cloud on AWS maintenance operations are performed during their
maintenance window. Which option would allow the customer to achieve this outcome? 

A. Schedule a maintenance preference in the software-defined data center (SDDC) console. 

B. Schedule a call with VMware Cloud on AWS Support and schedule a maintenance window. 

C. Schedule a call with AWS Support and schedule a maintenance window. 

D. Schedule a maintenance window through an online support request. 

Correct Answer: A 

 

QUESTION 4
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Upon connecting a VMware Managed Transit Gateway (VTGW), the administrator discovers that there is an overlapping
workload CIDR bleck. How will the software-defined data center (SDDC) handle the overlapping IP space? 

A. It will reject the remote IP space. 

B. It will isolate the overlapping segment in the cloud. 

C. It will allow the overlapping IP space. 

D. It will ensure both CIDR blocks work in both locations. 

Correct Answer: C 

 

QUESTION 5

What are three valid migration modes in VMware HCX? (Choose three.) 

A. Planned Failover 

B. Hybrid Linked Mode 

C. Bulk Migration 

D. Replication Assisted vMotion (RAV) 

E. HCX vMotion 

F. Cross vCenter vMotion 

Correct Answer: CDE 
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